
이름: 　　　　　　　 날짜: 　　　　　　 점수: 　　　

지수의산술 ( 음의지수 )

3 + 5 =(−1) 3 − 3 =(−2)

(−1) − (−2) =2 (−1) − (−4) =2

6 − 10 =2 (−4) + 2 =(−2)

(−7) + 9 =(−2) 5 + 4 =2

5 + 7 =(−2) (−9) − (−9) =2

2 − (−10) =(−2) 1 + (−6) =(−2)

8 + 2 =2 7 + 1 =

3 + (−10) =(−1) 10 − 10 =

3 + 9 =(−2) (−4) − (−1) =(−2)

5 − 8 =2 (−10) − 7 =(−2)
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이름: 　　　　　　　 날짜: 　　　　　　 점수: 　　　

지수의산술 ( 음의지수 )

3 + 5 = = 5(−1)

3
16

3
1

3 − 3 = (− ) = (−2 )(−2)

9
26

9
8

(−1) − (−2) = 32 (−1) − (−4) = 52

6 − 10 = 262 (−4) + 2 = = 2(−2)

16
33

16
1

(−7) + 9 = = 9(−2)

49
442

49
1

5 + 4 = 292

5 + 7 = = 7(−2)

25
176

25
1

(−9) − (−9) = 902

2 − (−10) = = 10(−2)

4
41

4
1

1 + (−6) = (−5)(−2)

8 + 2 = 662 7 + 1 = 8

3 + (−10) = (− ) = (−9 )(−1)

3
29

3
2

10 − 10 = 0

3 + 9 = = 9(−2)

9
82

9
1

(−4) − (−1) = = 1(−2)

16
17

16
1

5 − 8 = 172 (−10) − 7 = (− ) = (−6 )(−2)

100
699

100
99
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